tredir 1GeV?]
H
S

pout

1/od%0/ dp™d]|

Ratio to ATLAS

T

=
o
&

-
o
o

1077

0.5

13000 GeV pp
| I I I | I
top

P, (ATLAS semileptonic ttbar)

m ATLAS
—A— Pythia 6.428 370
----- A Pythia 6.428 373
---0-- Pythia 6.428 374

Pythia 6.428 375
- Pythia 6.428 381
Pythia 6.428 382

|
Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

= I =

5 | | | | | | | | | E

I ' ' ' | ' ' ' | ' =

: /,!\' “““““““““““““ ‘—'=""""“‘:::::::i :

e _

| L L L | L L L | L L

0 20t0h | ha 400

|po’uf‘ | [GeV], p! *“in [200,300] [GeV]

N

0.5



	Contents
	Page 1


